THE ANCIENT ORDER; CHARLES MANSON;
0.7. STMPSON; FEBRUARY 2, 2005

FROM THE "MANSON MURDERS" TO THE "SIMPSON MURDEEE“--THE EQUATION:
®hug, 10, 1569, the last day of the "Manson murders". August 10 is the
222nd day af the yvear. 143 days were left in 1969...+....*.......1#3

1970 through 1993(24 vears). 24 x 365 = 8,760...0avevcavnnasnsns 8,760
6 leap years 30 add 6 mOre JaYE..sssssrssssssannsannssnnnsansnssess B
Ron Goldman & MNicole Simpson murdered on the 163rd day..c.cecases 163

® T'otal=9,072
89, 072=[(2x2%3%x3) x {(2x2%3x3) x 7]. The Beast of Burden
is coded BOB, 202, 2/2 or February 2Znd, the 33rd day of the vear. 22 33,
The egquation above is the Beast of Burden code multiplied out, then
multiplied by itself then multiplied by 7. That is the equation for the
exact number of days between the "Manson" murders and the double-murder
of Hicole Brown Simpson and Ronald Goldman.

® The equation by 10 instead of 7. [(2x2x3x3) x {2x2xix3i) x 10] comes
out to 12,960, Hotice the 96 (FREEMASON) .,

®12,960 days from the "Manson family murders”
August 10 is the 222nd day. 143 days left in 1969. 12,960 - 143 = 12,817.
12,775 days is 35 years. 12,817 - 12,775 = 42 days left.
9 leap years so subtract 9 days. 42 - 9 =33, That would be the 33rd day
in the year 2005.

@®The equation multiplied by 10 instead of 7 comes out to tha Bsast of
Burden day in the year 2005 from the "Manson murders"

@ WHAT DOES IT MEAN? It means that the ANCIENT ORDER scheduled the
"Manson murders” te take place by the above egquation multiplied out by
10 and back from the date of February 2nd in the year 2005.

@ The ANCIENT ORDER then scheduled another "CRIME OF THE CENTURY", the
murders of Wicole Brown Simpson and Ronald Goldman, by the same Beast of
Burden code equation, this time multiplied by 7 and dated from the "Manson

murders."” But now let's look at the double-murder of Nicole Brown Simpson
and REonald Goldman from the date of February 2, Z005.

June 12 is the 163rd day. 202 days left....csececssscssnssacacnnaa 202

1995 through 2004 = 10 years or 3,650 days..ceeccssacrsncacsnna 3,650

3 leap years so add 3 days..... e L R «3

33 days to the Beast of Burden day inm 2005. . ..ccvccunicannranas P |

® Total=3,888
® That is 3,888 days exactly from the double-murder of
Nicole Brown Simpson and Ronald Goldman to the ANCIENT ORDER newvly known
target date of February 2nd, 2005. That divides te (2x2xIxl) = 243 exactly.

@Central{73) Intelligence{115} Agency(55) adds to..... 243 exactly
® JonBenet(B85) Pakricia(?77) Ramsey(B1) adds to. cenee2d43 2xactly
®Princess Diana dled in 1997 on day number............ 243.

# The murders of Nicole Brown Simpson and Ronald Goldman were pre-planned
to take place on the number of days of (2x2x2x2) x 243 from February 2nd af
the year 2005. The "243" was an important part in this AMCIENT ORDER date.

“We control life, Winston, at all its levels. You are ime-
:symgﬂmlﬂmmi;umunhhgcﬂhdhummnnﬂhn;whkh
e catraged by what we do and will born against us.
Ihnal:um#humHIEMHnaHhuamiﬂhhd malleable,
Or vou have returned to. vour old i that the
15 of: the staves will arise and overthrow . Pat

-gut of your mind. They are helpless, fike the animals,
is-the Party. The others are outside—irrelevant,”
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